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1. Find the inverse for the matrix
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3. Suppose that A is an invertible n X n matrix, B is an n X r matrix, Z is an

n-component vector, and 7 is an r-component vector. If
f —
AR | &)=b
( ) ( Yy )

find a formula for 7 in terms of A~1, B, b and §.
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4. (a) (5 pts.) Let P(Z) be the orthogonal projection of & € R? onto the line
Z2 = 2z;. Find the 2 x 2 matrix A such that P(Z) = AZ.
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(b) (5 pts.) Let R(Z) be the reflection F € R? about the line in part (a). Find the |
2 X 2 matrix B such that R(Z) = BZ. - LTy
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5. Let T'(Z) = AZ, where
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= (3 9 —6 6)
(a) (2 pts.) What is the reduced row echelon form of A?
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(b) (2 pts.) What is the rank of A?
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(c) (3 pts.) Find a set of vectors (as small a set as is possible) whose linear combi-
nations are the image of T.
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(d) (3 pts.) Find a set of vectors (as small a set as is possible) whose linear
combinations are the kernel of T. [~
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